olJ
RS

—_

—

o]

I
Nfo

—

Hjo
i

ojn

@ x-3>2

@ 2x>4

@ 3-2x<2x+1

® 2(x-2)=0



BEX 4xta > 5x-28 BEHE AD5 19 ASTH LA L W, B4

a®l F2?

@ -3 @ -2 ® -1 @0 ®1



44 9ol A e A

<




Z[E/\
: F9]
HH =
7] ;E :
Q. q- LZ
- M;;;j% L
| N
-~
e
E¢wa
A 15 %bb )
| e =
1 - ;;QJ
| @71 i %L%#Oﬂ
17 E71—2 |
| o
18 W ﬁg}
@ ==t
19




2 7ol 200 911 bk} 10 A BERE 1) & Fokeln g,
% 7k210] 1010 9 olab} A Stelw AfhE Ao B Ak A 5
A Fopolat,

e = 7



A== 6 F7EA]= 1 215 3000 Y¥olil 6 H2 *
A 1 Q1% 1800 Holakar gttt A FeH o] 30000
H ) 2 GY7tz] IS 4= l=A] Fotoiet.

of,



17} obd 227

S

3x—4<29]

@ 1 ® 2

® 0



ok [ <kl Solrke R5 o) wrao] i) Ust th2 sht
=9

1 1
@ a>b Y, §a+5|:]§b+5

1 1
@ a<b°£”ﬂ,6—4a|:]6—4b

®a-5>b-54ha] b
@ —%a<—%b%§“ﬂ,al:]b
® 2-a>-2-b< W, a[ b



o =
i

Mo rot

o =

D1

oM ax-12>09 7k x> 4 L W, o a O] o2
(7

@ 2 ® 3 @ 4 ® 5



10.

A &35H= 6000 Y, A0]= 9000 o] AZEHo] ot o2 E5EH

Sh= wi g 3000 @4, AH]= 2000 ¥4 oFTHA 2510] oo

ulo] al- gt gobAlt e @ AL 5 Feelx Lajelet,

YEE e

2 rlo gl



11. A, B & gAte] ¢t & Astado] o2t 2ot 2 2 o) 55}
AS|ALe] @ FAIE AEslE Ao] fa]ghx] stoizat
ARCR R E V=
A 20,000 S N
B 5,000 &9 1209
(20& 53t #8) (20 =3} A])

ol

v
it
M



Soi Hrf ¢

il
X
jrex
o
™~
B[l

o8
!
min

Folk E9] ¢Fo] 25 L
L2 Zo] =7

@ 5L ® 7L @ 10L ® 12L

O 3L



&ol7F e,

2 54014 R0
St gEEe @ o214

13. Au3e EAsHod 3504 RO
W3old e ud 3 RS F

Tstofzt (A E 271)

S o]

il
o]

YEE %ol



14. of® Aol 3 & wstal 5 S Hotd 14 Hoy A0, 9= Hof 4
FHSEIL 2 5 Wi 18 Kot Al gkt of o, o g
o e

o= ?'—8]'021 E‘r



x—4 3x+1

15. A:5(x+1)>2x-1,B: > 1 o tfste] Ao BE

Aolet S5 0] A4E? (B,

® 17 @ 270 @ 370 @ 47 ® 574



ol
N

b W, ab 9]

1
- <x<
3

7t -

sholat,

:’7_



17.

alebES shoE] M7 A% 20km, AR E Sob & U7t
A A% 10km 2 oA A Ao A7HS 3417 o2 Sheln
ghek. WSS B km o2 AShE SR Latelt,

(g mold



18. 8% | 228 200g o k. 4710 xg o 23 4H01H 10% o)
20% PIEre] S WER T Aek. x o WS Fokofel,

D R
=%



19.

Tx+529xq |32 B5A0] girt. ulEE Hlzto
x <4 B S I g} gHlEA Bokt

She AAS T TS Fofolel,

=
=¥

o5 R B
& 208 WS



20.

ARG a(x—2) <3(5x—3) + 12 & S|E F5tH? (HF,a< 15)

2a -3
@ a+15
@ x> a—15

@ x<
® x<

a-15

2a+ 3
2a+ 3

a—15

2a + 3
a—15

x>



